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 MODEL ANSWER إمتحان تخلف  التخلف
Fayoum University Computers and  Programming 
Faculty of Engineering Jan., 11, 2011 
Dept. of Eng. Math. and Phys.  Final Exam 
Preparatory Year Time : 2 hours  

 

Answer  of  Q1: 
 

1.1  (F)  
1.2 (T) 
1.3 (T) 
1.4 (T) 
1.5 (F) 

 
_______________________________________________________ 

 

Answer  of  Q2: 
 

2.1 )))))(((*2^(( XABSSQRLOGXABSATNZ = , 

 

2.2 IF TAN(X-Y)=0 THEN X=Y 

IF C=1 THEN    )5.1)^((Z XABSCOS=    

IF C=2 THEN    )5.1)^((Z XABSCOT=  

 

2.3 )**( BxAyByAxCP −=  

        PRINT " CP="; CP ; "k" 

        PRINT  " _             _" 
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Answer  of  Q3: 
Write the priority of the following  BASIC expressions, hence, find the 
result: 
      ( Note:   A=-9     B= 1     C=2      Y= FALSE    Z= TRUE    )                                    
 

3.1       

             ΟΟΟΟΟΟ 
                                                            

)  B)        (C A    /          -      B      /    C     A        (   EXP
↓↓↓↓↓↓

−+

  

 
The result is    7.389056  
 

 

3.2     

Ο   Ο  Ο   Ο  Ο Ο   
                                                          

)   )     (A) ABS     (    QR S               LOG(B)   (     *    B       C     
↓↓↓↓↓↓

++

 

 
The result is    5   
 
 

 
 

3.3      

  Ο   Ο    Ο  Ο   Ο    Ο 
                                             
  A))-   (B       / A(      ABS-     C        /B        A

↓↓↓↓↓↓

+

  

 
The result is    -9.4  
 

 

 

 

 

   
      6                 4             2              5             3               1  

   
      6          5            2              4            3                1  

   
      5                 4             6           3                2               1  
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Answer  of  Q4: 

 

 
                                                                START 

 

     
   INPUT  X 
                                                                 
 
 
                                                          SUM = 1,   T=1 
                                                                
                                                             
 
 
                                                                  K = 1 
 
 
 
 
                                                T = -T *X2/ [(2K+2)*(2K+1)] 
   
  
                                                            SUM=SUM+T 
  
                                                                                                         K= K+1  
                                                                                                        
                                                                      
                                                                K < 99              YES              
 
 
                                                              NO  

 
                                                    
                                                         PRINT  SUM  
 
  
                                                             
                                                                 
                                                              STOP 
 

 
 
 



 
Page (4/4) 

Answer  of  Q5: 
 

5.1 This program computes: 
        3! ,  2!,  4! and  5!   
 
 
5.2  The outputs are : 
 
 
 
 
 
 
 

 
________________________________________________________________ 
 

          عويـسـودـحـمــارم   مـك /    د.........................مع دعـواتي بالتفـوق   

3!=6 
2!=2 
4!=24 
5!=120 
  


